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(QHUJLH�:DVVHU�1LHGHUUKHLQ�*PE+

3UHLVEODWW��

1HW]QXW]XQJVHQWJHOWH�I�U�.XQGHQ�PLW�/HLVWXQJVPHVVXQJ
'LH�/HLVWXQJVPHVVXQJ�HUIROJW�LQ�)RUP�HLQHU�UHJLVWULHQGHQ�����6WXQGHQ�=HLWUDVWHU�0HVVXQJ
'LHVHV�3UHLVEODWW�JLOW�UHJHOPl�LJ�I�U�.XQGHQ�LP�0LWWHOVSDQQXQJVQHW]�VRZLH�EHL�.XQGHQ�LP�1LHGHUVSDQQXQJV�
QHW]�EHL�HLQHP�-DKUHVYHUEUDXFK��EHU��������N:K

/HLVWXQJV� $UEHLWV� /HLVWXQJV� $UEHLWV�
SUHLV SUHLV SUHLV SUHLV

'0�N:D 3I�N:K '0�N:D 3I�N:K

(QWQDKPHVWHO OH�LP -DKUHVEHQXW]XQJVGDXHU
��������K�D !�������K�D

0LWWHOVSDQQXQJVQHW] ����� ���� ������ ����

HLQVFKOLH�OLFK�8PVSDQQXQJ ����� ���� ������ ����

(QWQDKPHVWHO OH�LP -DKUHVEHQXW]XQJVGDXHU
�������K�D !������K�D

1LHGHUVSDQQXQJVQHW] ����� ���� ������ ����

3UHLVH�]X]�JOLFK�GHU�DQ�GLH�*HPHLQGH�LP�6LQQH�GHU�.RQ]HVVLRQVDEJDEHQYHURUGQXQJ
]X�]DKOHQGH�.RQ]HVVLRQVDEJDEH��GHQ�0HKUNRVWHQ�JHPl��.UDIW�:lUPH�.RSSOXQJVJHVHW]�LQ�GHU�MHZHLOV�J�OWLJHQ�+|KH
�]]W�������3I�N:K��XQG�JHVHW]OLFKHU�8PVDW]VWHXHU�LQ�GHU�MHZHLOV�J�OWLJHQ�+|KH��]]W��������

(QHUJLH�:DVVHU�1LHGHUUKHLQ�*PE+

3UHLVEODWW��

1HW]QXW]XQJVHQWJHOWH�I�U�5HVHUYHLQDQVSUXFKQDKPH
'LHVHV�3UHLVEODWW�JLOW�I�U�GLH�1XW]XQJ�GHV�1HW]HV�EHL�$XVIDOO�GHU�(LJHQHU]HXJXQJVDQODJH

5HVHUYHLQDQVSUXFKQDKPH
������K�D ����ELV�����K�D �EHU�����K�D

(QWQDKPHVWHOOH�LP
'0�N:D '0�N:D '0�N:D

0LWWHOVSDQQXQJVQHW] ����� ����� ������

1LHGHUVSDQQXQJVQHW] ����� ������ ������

3UHLVH�]X]�JOLFK�0HKUNRVWHQ�JHPl��.UDIW�:lUPH�.RSSOXQJVJHVHW]�LQ�GHU�MHZHLOV�J�OWLJHQ�+|KH��]]W�
�����3I�N:K��XQG�JHVHW]OLFKHU�8PVDW]VWHXHU�LQ�GHU�MHZHLOV�J�OWLJHQ�+|KH��]]W��������
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�� WlJOLFKH�%HUHLWVWHOOXQJ�GHU�0HVVGDWHQ
�� $EUHFKQXQJ

(LQ�DQGHUHU�/HLVWXQJVXPIDQJ�NDQQ�LQGLYLGXHOO�YHUHLQEDUW�ZHUGHQ�

3UHLVH�]X]�JOLFK�JHVHW]OLFKHU�8PVDW]VWHXHU�LQ�GHU�MHZHLOV�J�OWLJHQ�+|KH��]]W��������

(QHUJLH�:DVVHU�1LHGHUUKHLQ�*PE+

3UHLVEODWW��

3UHLVUHJHOXQJ�I�U�GLH�/LHIHUXQJ�YRQ�$XVKLOIVHQHUJLH�XQG�1RWVWURP

'LHVHV�3UHLVEODWW�JLOW�EHL�$XVIDOO�GHU�6WURPOLHIHUXQJ�GXUFK�GHQ�/LHIHUDQWHQ�DQ�.XQGHQ�PLW
UHJLVWULHQGHU�����6WXQGHQ�/HLVWXQJVPHVVXQJ

0RQDWVOHLVWXQJVSUHLV $UEHLWVSUHLV

$XVKLOIVHQHUJLH ������'0�N:�XQG�0RQDW �����3I�N:K

/LHIHUXQJ�YRQ�1RWVWURP ������'0�N:�XQG�0RQDW ������3I�N:K

3UHLVH�]X]�JOLFK�GHU�DQ�GLH�*HPHLQGH�LP�6LQQH�GHU�.RQ]HVVLRQVDEJDEHQYHURUGQXQJ
]X�]DKOHQGH�.RQ]HVVLRQVDEJDEH��GHQ�0HKUNRVWHQ�JHPl��.UDIW�:lUPH�.RSSOXQJVJHVHW]�LQ�GHU�MHZHLOV
J�OWLJHQ�+|KH��]]W�������3I�N:K��XQG�JHVHW]OLFKHU�8PVDW]VWHXHU�LQ�GHU�MHZHLOV�J�OWLJHQ�+|KH��]]W�������
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(QHUJLH�:DVVHU�1LHGHUUKHLQ�*PE+

3UHLVEODWW��

(QWJHOWH�I�U�GLH�1XW]XQJ�GHV�9HUVRUJXQJVQHW]HV�I�U�.XQGHQ�RKQH�/HLVWXQJVPHVVXQJ
'LHVHV�3UHLVEODWW�JLOW�UHJHOPl�LJ�I�U�.XQGHQ�LP�1LHGHUVSDQQXQJVQHW]�EHL�HLQHP
-DKUHVYHUEUDXFK�ELV�]X��������N:K��'LH�0HVVXQJ�GHU�HOHNWULVFKHQ�$UEHLW�HUIROJW�GXUFK
GHQ�HLQJHEDXWHQ�:HFKVHO��RGHU�'UHKVWURP]lKOHU�

1HWWRSUHLVH PLW�8PVDW]VWHXHU���

$UEHLWVSUHLV ������3I�N:K ������3I�N:K

9HUUHFKQXQJVSUHLV
���(LQWDULI]lKOHU ������'0�D ������'0�D
���=ZHLWDULI]lKOHU �������'0�D �������'0�D
�����HLQVFKOLH�OLFK�7DULIVFKDOWXQJ�

8PVWHOOXQJVNRVWHQ�EHL�:HFKVHO
GHV�/LHIHUDQWHQ�LQQHUKDOE�HLQHV
$EUHFKQXQJV]HLWUDXPV ������'0 ������'0

3UHLVH�]X]�JOLFK�GHU�DQ�GLH�*HPHLQGH�LP�6LQQH�GHU�.RQ]HVVLRQVDEJDEHQYHURUGQXQJ
]X�]DKOHQGH�.RQ]HVVLRQVDEJDEH��GHQ�0HKUNRVWHQ�JHPl��.UDIW�:lUPH�.RSSOXQJVJHVHW]�LQ�GHU
MHZHLOV�J�OWLJHQ�+|KH��]]W�������3I�N:K��XQG�JHVHW]OLFKHU�8PVDW]VWHXHU�LQ�GHU�MHZHLOV�J�OWLJHQ�+|KH
�]]W�������

�� 'LH�3UHLVH�PLW�8PVDW]VWHXHU�EHLQKDOWHQ�GLH�JHVHW]OLFKH�8PVDW]VWHXHU�LQ�+|KH�YRQ�]]W�������XQG
ZXUGHQ�JHUXQGHW��'LH�$EUHFKQXQJ�HUIROJW�LPPHU�DXI�%DVLV�GHU�1HWWRSUHLVH

'LH�.RQ]HVVLRQVDEJDEH�EHWUlJW�EHL�/LHIHUXQJHQ�ELV�]X�HLQHU�-DKUHVDEQDKPH�YRQ��������N:K
QHWWR EUXWWR

LP�5DKPHQ�YRQ�6FKZDFKODVWOLHIHUXQJHQ �����3I�N:K �����3I�N:K
DQVRQVWHQ
LP�6WDGWJHELHW�0RHUV �����3I�N:K �����3I�N:K
LP�6WDGWJHELHW�1HXNLUFKHQ�9OX\Q �����3I�N:K �����3I�N:K
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